The same properties that apply to whole number exponents also apply to rational exponents.
Here they are again:
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Example I ~ Use the properties to simplify the expressions
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Properties of Radicals
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Product Property: ¥ab = ¥a- Vb Quotient Property: - = T



Example 3  Use the properties of radicals to simplify the expression
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Example 4  Write the expression in simplest form
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Example 5  Add and subtract radicals and roots
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PROPERTIES OF RATIONAL EXPONENTS Simplify the expression.
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PROPERTIES OF RADICALS Simplify the expression.
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SIMPLEST FORM Write the expression in simplest form.
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